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Solo Dance(Waltz)

Prince Mikasa CUP 30th All Japan Dancesport Championship 2010

The Result of Standard Final

TES PCS(Original) Deduction Decision Total
1 2 3
[PB] L f| Dancing| . ] Long | Dress )
[Qm] [MM] [CcP] 0SS O 1]
Posture, Ps] Balance Delayed| Early Disconti time | Cord Deducti Total
Balance, 3;;"23;{ “""V:,’u”jg“” Partnering Skill ani“,‘.?’,i‘;g‘;mn loss Fall start | finish connect} out of nuation Error Disconti| Violatio TES Pcs on points
on time
No |Judge Base Value Base Value Base Value Coordination nuance n
A 6.50 6.50 7.00 6.50 650 0 0 0 0 0 0 0 0 0 0
B . 0 " 6.50 6.50 6.50 6.00 650| 0 0 0 0 0 0 0 0 0 0
c [Bv=10][600] | Ev=tolfen=a] | [Ev-tolcD=0] 6.00 6.50 6.50 6.00 650| 0 0 0 0 0 0 0 0 0 0
2 [E) (WS=2IIHPES0] | INSSOI[HPEZOL | IWS=OI[HPESC] ggg Sgg ggg ggg ggg g g g g g g g g g g 2800 (3220 | 000 | 60.20
F IWESOIINVE0] | [WESOJINVE0] |- [WE=CIINV=0] 650 650 650 650 700| o 0 0 0 0 0 0 0 0 0 ' ' ' |
[FPE=Q] [FPE=Q] [FPE=0] - : - : -
G 6.50 6.50 6.00 550 600| 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 8.00 10.00 10.00 6.50 | 6.50 | 6.40 | 6.20 | 660] 0 [ 0 [ 0 0 0 0 0o [ o [ o 0
A 6.00 6.00 6.00 6.00 550 0 0 0 0 0 0 0 0 0 0
B . " . 650 6.00 550 6.00 600 0 0 0 0 0 0 0 0 0 0
c 5.00 500 550 500 550 0 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] | [BV=10][GD=0] | [BV=10][GD=0] 650 6.00 6.00 6.00 550| 0 0 0 0 0 0 0 0 0 0
87 e IR || IMESTIIPES) | [BEEIE= 6550 6.50 6.00 550 600| 0 0 0 0 0 0 0 0 0 0 | 2800 | 2920 | 000 | 57.20
WF=0][NV=0] | [WF=0][NV=0] | [WF=0][NV=0] - - i - i ; ; : a
L R | B T R IR IR I
TS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 10,00 9.00 6201 580 | 580 ] 570 | 570] 0 [ 0 [ 0 0 0 0 0 [ 0 [ o 0
A 550 500 550 500 500] 0 0 0 0 0 0 0 0 0 0
B 550 5.50 550 5.50 500 0 0 0 0 0 0 0 0 0 0
c Ly oy LAy 450 550 500 5.00 500| 0 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] | [BV=10][GD=0] | [BV=10][GD=0] 550 550 550 5.00 500| 0 0 0 0 0 0 0 0 0 0
% e WHEEIFIPE=] || [BHE= =] | (S0 L= 550 6.00 550 5.50 500 0 0 0 0 0 0 0 0 0 o | 3000 | 2610 | 000 | 56.10
[WF=0][NV=0] | [WF=0][NV=0] | [WF=0][NV=0] - - - - g : : : b
o | | e S0 50 sm s s 0 0 0 o o o o o o o
TS 0 0 0 0 0 0 0 0 0 0
Decision 10.00 10.00 10.00 5.30 | 5.30 | 530 [ 5.20 | 500] 0 [ 0 [ 0 0 0 0 0o T o [ o 0
A 550 550 5.00 500 500 0 0 0 0 0 0 0 0 0 0
B . . . 550 6.00 6.00 6.00 550 0 0 0 0 0 0 0 0 0 0
c 550 550 550 550 500 0 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] | [BV=10][GD=-1] | [BV=10][GD=0] 6.00 6.00 550 550 600| © 0 0 0 0 0 0 0 0 0
60 |g IR || IESTIILTE) | (=== 6.00 550 5.00 6.00 600 0 0 0 0 0 0 0 0 0 0 | 2600 | 2760 | 0.00 | 53.60
WF=0][NV=0] | [WF=0][NV=0] | [WF=0][NV=0] i - B g i : : : !
R B T T R IR IR I
TS 0 0 0 0 0 0 0 0 0 0
Decision 5.00 900 8.00 560 | 560 | 530 570 | 540] 0 [ 0 [ 0 0 0 0 0 [ 0 [ o 0
A 6.00 6.00 6.00 550 550 0 0 0 0 0 0 0 0 0 0
B 650 6.50 650 6.00 600| 0 0 0 0 0 0 0 0 0 0
c Ly oy LAy 6.50 6.50 6.00 6.00 650| 0 0 0 0 0 0 0 0 0 0
D [BV=10][GD=0] | [BV=10][GD=0] | [BV=10][GD=0] 6.00 6.00 650 6.00 550| © 0 0 0 0 0 0 0 0 0
" e WHEEIFIPE=] || [EHE= =] | (S0 L= 6.00 6.50 650 6.00 650 0 0 0 0 0 0 0 0 0 o | 3000 | 3030 | 000 | 60.30
[WF=0][NV=0] | [WF=0][NV=0] | [WF=0][NV=0] 8 - - - - : : : :
G L O B I T T A R IR I I
TS 0 0 0 0 0 0 0 0 0 0
Decision 10.00 10.00 10.00 6.10 | 6.20 | 6.10 [ 5.90 | 600] 0 [ 0 [ 0 0 0 0 0o T o [ o 0
A 550 5.00 750 750 550 0 0 0 0 0 0 0 0 0 0
B . " o 6.00 6.00 6.00 6.00 600| 0 0 0 0 0 0 0 0 0 0
0 00 0 50 0
¢ [BV=10][GD=0] | [BV=10][GD=0] | [BV=10][GD=0] 500 50 500 55 5001 0 0 0 0 0 0 0 0 0 0
D = . = = = = 500 550 5.00 500 500| 0 0 0 0 0 0 0 0 0 0
88 [WS=0][HPE=0] | [WS=0][HPE=0] | [WS=0]{HPE=0]
E TWE=OJINVZ0] | TWR=OJINVZ0] | TWR=OJ[NVa0] 550 500 5.00 500 600| 0 0 0 0 0 0 0 0 0 0 | 2800 [2650 | 0.00 | 5450
F [FPE=-1] [FPE=0] [FPE=-1] 400 400 450 450 450| o 0 0 0 0 0 0 0 0 0
G 6.00 6.00 6.00 6.00 600| 0 0 0 0 0 0 0 0 0 0
TS 0 0 0 0 0 0 0 0 0 0
Decision 9.00 10.00 9.00 5.40 | 5.30 | 5.10 [ 5.20 | 550] 0 [ 0 [ 0 0 0 0 0 T o [ o 0
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